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The eigenvalues of A are 13 ad O First verify

A Au

f
So the eigenoector equation is

satisfied However

Huff 22 32 13 11

so u does not have unit norm ad is therefore met a

valid eigenvector Instead we use

a is
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first use the inner product view of matrix matrix multiplication

Let the columns of V be 4 e un CIR so that

rain Yser I
Then v tu Viva Viva

I

Since the columns of V are orthogonal

Vitug
if i j

Vive if i j
Thes V is diagonal By the above the

diagonal elements
of

are of the form vity fluid Therefore UTV I

iff Hui112 1 for i l n i.e if the columns are

orthonormal
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A matrix is Sg atria if A

At First let A XTx

At FX
t

y xt
t X'T A

Next let A XXT Then

At xx tf Ix'T Xt Xx A
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it tl It L
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go ftp.PPT I which is interesting to note
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t.is I
Cos20 t s.IO qson0 cos q Sir cos

gag

Note that cost Sir L Further since q cSoB 92 1 so

TV I

Exley
we will co mealy replace A with its SUD i e A UE V

Ag Alytus U zvtlu.tv

U2V'T t UE Vue

U 2 VI c Tue

Nou note tht if uj is th jth column of
V we have
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So that

UTeej Tj uj lwrite
it e t like above to see this

Therefore
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No note that undue so

HAGH Hr a true H I
oe
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Ext
similar 1 pg 2.18

we have ATz VETUtz We went

Atz L AI i e AI AI o Expanding we get

I
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z.tv f v



Therefore taking z v ad x v goes

ztAH x f.TVkE VI

e
t 2 ez

T or efe o

Since eFez LT o o o An easier way to

solve this is to recognize that Atg g y by the reason

of the previous exercise In this case

Htzltft.tn r.u 5lrv4
TiquTu o

since all sagular vectors are orthogonal

ExI
See notes
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See notes
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